PARLINGTON CRICKET CLUB 1st XI 2007

<u>LEAGUE</u>			PLAYED NOT STARTED WON LOST DRAWN	26 4 5 12 5
	12th	IN LEAGUE WITH	226 POINTS	
	TOSS	WON LOST	12 10	
<u>CUPS</u>			PLAYED WON LOST	5 1 4
	<u>TOSS</u>	WON	4	

LOST

н	/\	ı ÷		н
<i>1</i> 1.	$\overline{}$	v,	u	

	Matalaga	T	D	Highest	Not	Comp.	A	Balls	Balls/		ber of
	<u>Matches</u>	<u>Innings</u>	Runs	<u>Score</u>	<u>Out</u>	<u>Innings</u>	<u>Average</u>	<u>Faced</u>	Run	<u>4's</u>	<u>6's</u>
N. PRATT	16	16	876	133	0	16	54.75	1345	1.535	95	11
J.M. ALDERSON	20	20	381	60	3	17	22.41	702	1.843	44	2
D.M. HODGSON	20	20	351	63	3	17	20.65	792	2.256	35	0
M. STAINSBY	19	18	361	74	0	18	20.06	803	2.224	52	2
M.E. JOBLING	18	17	204	31	6	11	18.55	281	1.377	13	1
D.J. ECKELS	21	20	253	48	1	19	13.32	842	3.328	17	1
Also Batted											
THISO DUTCOL											
D.J.B. MORGANS	3	3	83	39*	2	1	83.00	98	1.181	6	1
M.A. QURESHI	3	3	72	49*	1	2	36.00	87	1.208	7	0
M.A. MASHIMBYI	10	10	249	85	1	9	27.67	286	1.149	28	8
L.J. HUTTON	13	11	186	49	1	10	18.60	379	2.038	20	0
T.J. CHAPMAN	15	5	33	13	2	3	11.00	47	1.424	5	0
P.D. RAINE	19	6	43	20	2	4	10.75	70	1.628	7	0
A.J.W. DEUCHAR	22	12	52	19*	5	7	7.43	154	2.962	3	0
S. LISTER	7	5	36	20	0	5	7.20	119	3.306	1	0
S. LEE	5	4	11	9*	2	2	5.50	44	4.000	2	0
L.J. CRAGGS	6	5	14	11	2	3	4.67	45	3.214	1	0
L.D. COATES	14	12	42	11*	2	10	4.20	150	3.571	1	0
J. STOCK	5	4	4	2*	3	1	4.00	9	2.250	0	0
J.R. SUTTON	1	1	0	0	0	1	0.00	5	N/A	0	0
C.S. BIGLIN	3	3	0	0	0	3	0.00	25	N/A	0	0
J.T. DOBSON	1	1	3	3*	1	0	N/A	1	0.333	0	0

Played but did not bat

M.T. DOBINSON 1

RUNS SCORED FORWICKETS LOSTAVERAGE361415922.73

	Balls	Overs	<u>Mdns</u>	Runs	Wkts	Average	Best Bowling	Runs/ Over	Strike Rate	Nun <u>Wides</u>	nber of No Balls
		· · · · · · · · · · · · · · · · · · ·							·		
D.J. ECKELS	810	128.1	13	586	23	25.48	6-90	4.575	35.22	8	33
P.D. RAINE	1165	194	37	757	26	29.12	3-37	3.902	44.81	1	0
M. STAINSBY	525	87.3	7	360	12	30.00	2-14	4.124	43.75	0	0
A.J.W. DEUCHAR	796	131	26	509	16	31.81	3-59	3.885	49.75	9	1
M.A. MASHIMBYI	651	105	8	438	12	36.50	5-50	4.171	54.25	0	21
Also Bowled											
M.A. QURESHI	361	60	21	112	13	8.62	6-34	1.867	27.77	0	1
J.M. ALDERSON	249	41.2	5	191	9	21.22	3-60	4.636	27.67	1	0
S. LEE	85	14	0	98	3	32.67	2-45	7.000	28.33	0	1
S. LISTER	176	29	5	103	3	34.33	2-23	3.552	58.67	2	0
N. PRATT	160	26	3	126	3	42.00	2-46	4.846	53.33	2	2
T.J. CHAPMAN	415	67	6	315	7	45.00	2-18	4.701	59.29	9	4
J. STOCK	185	30	1	163	3	54.33	2-32	5.433	61.67	3	2
L.D. COATES	120	18.5	1	133	1	133.00	1-11	7.189	120.00	1	6
L.J. CRAGGS	26	4	0	31	0	N/A	0-5	7.750	N/A	1	1

Catches

D.M. HODGSON	25	T.J. CHAPMAN)		C.S. BIGLIN)	
A.J.W. DEUCHAR	9	D.J. ECKELS	}	4	L.D. COATES		
L.J. HUTTON)	M.E. JOBLING	J		L.J. CRAGGS	}	1
M.A. MASHIMBYI		D.J.B. MORGANS		3	J.T. DOBSON		
P.D. RAINE	6	S. LISTER	l	2	M.A. QURESHI	J	
M. STAINSBY	J	N. PRATT	ſ	2		_	
J.M. ALDERSON	5		-				

Stumpings

D.M. HODGSON 3

Run Outs

L.J. HUTTON 2 D.J. ECKELS
M.E. JOBLING
M.A. QURESHI
M. STAINSBY

RUNS SCORED AGAINST	WICKETS TAKEN	<u>AVERAGE</u>
4057	137	29.61

<u>CUPS</u>

<u></u>	Matches	Innings	<u>Runs</u>	Highest Score	Not Out	Comp. <u>Innings</u>	Average	Balls <u>Faced</u>	Balls/ <u>Run</u>	Numl <u>4's</u>	oer of <u>6's</u>
M.A. MASHIMBYI	2	2	107	54	0	2	53.50	77	0.720	13	4
D.M. HODGSON	4	4	57	32*	2	2	28.50	58	1.018	1	2
J.M. ALDERSON	5	5	76	28	0	5	15.20	94	1.237	6	1
N. PRATT	5	5	62	23	0	5	12.40	76	1.226	3	0
Also Batted											
M.E. JOBLING	2	2	33	20	1	1	33.00	43	1.303	3	0
L.J. HUTTON	4	4	40	24	1	3	13.33	59	1.475	4	0
C.S. BIGLIN	3	3	36	31	0	3	12.00	32	0.889	4	1
L.D. COATES	4	3	21	16	0	3	7.00	29	1.381	1	0
S.N. WHITEHEAD	1	1	4	4	0	1	4.00	13	3.250	0	0
L.J. CRAGGS	5	2	4	4*	1	1	4.00	11	2.750	1	0
A.J.W. DEUCHAR	5	3	5	5*	1	2	2.50	15	3.000	0	0
J.R. SUTTON	1	1	1	1	0	1	1.00	5	5.000	0	0
A. HARWOOD	1	1	2	2*	1	0	N/A	2	1.000	0	0
P.D. RAINE	4	1	1	1*	1	0	N/A	1	1.000	0	0
R. TULIP	1	1	1	1*	1	0	N/A	1	1.000	0	0
D.J.B. MORGANS	1	1	0	0*	1	0	N/A	2	N/A	0	0

Played but did not Bat

T.J. CHAPMAN	2
M. STAINSBY	2
M.T. DOBINSON	1
A. FENWICK	1
N.R. FENWICK	1

RUNS SCORED FOR WICKETS LOST AVERAGE
528 29 18.21

							Best	Runs/	Strike		nber of
	<u>Balls</u>	<u>Overs</u>	<u>Mdns</u>	Runs	Wkts	<u>Average</u>	<u>Bowling</u>	<u>Over</u>	Rate	Wides	No Balls
A.J.W. DEUCHAR	150	24	2	159	8	19.88	4-60	6.625	18.75	6	0
P.D. RAINE	130	22	2	111	5	22.20	3-46	5.045	26.40	0	0
T.D. RUMAL	132	22	2	111	3	22.20	5 10	3.013	20.10	O	Ü
Also Dowled											
Also Bowled											
L.J. CRAGGS	36	6	0	43	3	14.33	2-23	7.167	12.00	0	0
M. STAINSBY	56	9	0	66	3	22.00	2-31	7.333	18.67	2	0
T.J. CHAPMAN	44	7	0	61	1	61.00	1-38	8.714	44.00	2	0
J.M. ALDERSON	114	19	9	165	1	165.00	1-75	8.684	114.00	0	0
A. HARWOOD	20	3	0	24	0	N/A	0-24	8.000	N/A	2	0
<u>Catches</u>											
					,						
L.J. CRAGGS	2		J.M. AL		1						
			C.S. BIC A.J.W. D		D						
			A. HAR		AK.						
			D.M. HO		1	1					
			M.A. MA								
			N. PRAT	Т							
			P.D. RA								
			R. TULI	P)						
Stumpings											
											
Run Outs											
Kuii Outs											

RUNS SCORED AGAINST WICKETS TAKEN AVERAGE
647 28 23.11

D.J.B. MORGANS

N. PRATT

3 C.S. BIGLIN

J.M. ALDERSON

<u>100's</u>	N. PRATT	133	v BLACKHALL	(A)	LEAGUE	50 off	57	balls	100 off	110 ball	S
	N. PRATT	122	v HARTLEPOOL	(H)	LEAGUE		85			147	
	N. PRATT	101	v HARTLEPOOL	(A)	LEAGUE		91			147	
<u>50's</u>	N. PRATT	90	v BISHOP AUCKLAND	(A)	LEAGUE	50 off	88	balls			
	M.A. MASHIMBYI	85	v MARSKE	(H)	LEAGUE		70				
	M. STAINSBY	74	v RICHMONDSHIRE	(A)	LEAGUE		75				
	N. PRATT	73	v NORMANBY HALL	(H)	LEAGUE		76				
	N. PRATT	73	v REDCAR	(H)	LEAGUE		102				
	N. PRATT	72	v RICHMONDSHIRE	(H)	LEAGUE		83				
	D.M. HODGSON	63	v BLACKHALL	(A)	LEAGUE		92				
	J.M. ALDERSON	60	v REDCAR	(A)	LEAGUE		102				
	M.A. MASHIMBYI	54	v HARTLEPOOL	(H)	CUP		36				
	M.A. MASHIMBYI	53	v SALTBURN	(A)	CUP		34				

FASTEST 50

M.A. MASHIMBYI v SALTBURN (A) CUP off 34 balls

HIGHEST LEAGUE PARTNERSHIPS

1st	WICKET	191 (230)	v BLACKHALL	(A)	N. PRATT	115* (121)	+	D.M. HODGSON	63 (108)
2nd	WICKET	36 (68)	v MARTON	(H)	L.J. HUTTON	10* (29)	+	M. STAINSBY	22 (39)
=2nd	WICKET	36 (69)	v SALTBURN	(H)	M. STAINSBY	16* (36)	+	L.J. HUTTON	16 (32)
3rd	WICKET	117 (193)	v HARTLEPOOL	(H)	N. PRATT	81* (117)	+	D.J. ECKELS	32 (76)
4th	WICKET	137 (166)	v MARSKE	(H)	J.M. ALDERSON	39* (76)	+	M.A. MASHIMBYI	85 (90)
5th	WICKET	40 (64)	v REDCAR	(H)	N. PRATT	19* (26)	+	M.A. MASHIMBYI	18 (38)
6th	WICKET	58 (73)	v MARSKE	(A)	D.J.B. MORGANS	35* (40)	+	L.J. CRAGGS	11 (33)
7th	WICKET	41* (35)	v SALTBURN	(A)	M.A. QURESHI	19* (13)	+	M.E. JOBLING	17* (21)
8th	WICKET	39 (69)	v BISHOP AUCKLAND	(H)	A.J.W. DEUCHAR	5* (33)	+	M.E. JOBLING	31 (36)
9th	WICKET	24 (24)	v GREAT AYTON	(A)	A.J.W. DEUCHAR	4* (12)	+	P.D. RAINE	20 (12)
10th	WICKET	25 (45)	v NORTHALLERTON	(H)	A.J.W. DEUCHAR	19* (23)	+	P.D. RAINE	6 (22)

<u>LEAGUE</u>

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	STUMPED	RUN OUT
D.J. ECKELS	3	9	5	0	2
M. STAINSBY	4	9	4	0	1
J.M. ALDERSON	1	13	2	1	0
D.M. HODGSON	4	9	2	0	2
N. PRATT	5	7	4	0	0
M.E. JOBLING	3	6	1	1	0
L.D. COATES	1	2	5	1	1
L.J. HUTTON	2	6	2	0	0
M.A. MASHIMBYI	5	3	1	0	0
A.J.W. DEUCHAR	1	2	0	0	4
S. LISTER	1	2	1	1	0
P.D. RAINE	3	1	0	0	0
C.S. BIGLIN	1	1	0	1	0
T.J. CHAPMAN	2	1	0	0	0
L.J. CRAGGS	3	0	0	0	0
S. LEE	0	1	1	0	0
M.A. QURESHI	0	2	0	0	0
D.J.B. MORGANS	0	1	0	0	0
J. STOCK	0	1	0	0	0
J.R. SUTTON	0	0	1	0	0
	39	76	29	5	10

<u>CUP</u>					
	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	<u>STUMPED</u>	RUN OUT
		_	_		
J.M. ALDERSON	1	3	0	1	0
N. PRATT	1	4	0	0	0
C.S. BIGLIN	3	0	0	0	0
L.D. COATES	0	0	1	1	1
L.J. HUTTON	1	1	0	1	0
A.J.W. DEUCHAR	0	0	1	1	0
D.M. HODGSON	1	1	0	0	0
M.A. MASHIMBYI	0	1	0	1	0
L.J. CRAGGS	1	0	0	0	0
M.E. JOBLING	1	0	0	0	0
J.R. SUTTON	0	0	1	0	0
S.N. WHITEHEAD	1	0	0	0	0
		10			
	10	10	3	5	1

6 WICKET	M.A. QURESHI	6-34	\mathbf{v}	SALTBURN	(A)	LEAGUE
	D.J. ECKELS	6-90	v	NORMANBY HALL	(H)	LEAGUE
5 WICKET	M.A. MASHIMBYI	5-50	\mathbf{v}	REDCAR	(A)	LEAGUE
	D.J. ECKELS	5-59	V	BLACKHALL	(A)	LEAGUE
4 WICKET	M.A. QURESHI	4-41	v	SALTBURN	(H)	LEAGUE
	A.J.W. DEUCHAR	4-60	V	HARTLEPOOL	(H)	CUP
3 WICKET	M.A. QURESHI	3-37	v	BISHOP AUCKLAND	(H)	LEAGUE
	P.D. RAINE	3-37	V	BLACKHALL	(A)	LEAGUE
	D.J. ECKELS	3-47	V	REDCAR	(H)	LEAGUE
	P.D. RAINE	3-47	v	NORTHALLERTON	(H)	LEAGUE
	P.D. RAINE	3-57	v	BISHOP AUCKLAND	(H)	LEAGUE
	A.J.W. DEUCHAR	3-59	\mathbf{v}	NORMANBY HALL	(A)	LEAGUE
	J.M. ALDERSON	3-60	\mathbf{v}	BISHOP AUCKLAND	(A)	LEAGUE
	P.D. RAINE	3-63	v	MARTON	(H)	LEAGUE
	P.D. RAINE	3-82	V	NORTHALLERTON	(A)	LEAGUE

LEAGUE

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	STUMPED
P.D. RAINE	2	22	2	0
D.J. ECKELS	3	16	3	1
A.J.W. DEUCHAR	2	14	0	0
M.A. QURESHI	2	7	2	2
M.A. MASHIMBYI	5	4	3	0
M. STAINSBY	4	6	2	0
J.M. ALDERSON	2	7	0	0
T.J. CHAPMAN	3	3	1	0
S. LEE	2	1	0	0
S. LISTER	2	1	0	0
N. PRATT	1	2	0	0
J. STOCK	0	3	0	0
L.D. COATES	0	1	0	0
	28	87	13	3
<u>CUPS</u>				
A.J.W. DEUCHAR	3	5	0	0
P.D. RAINE	3	2	0	0
L.J. CRAGGS	1	2	0	0
M. STAINSBY	2	1	0	0
J.M. ALDERSON	0	1	0	0
T.J. CHAPMAN	1	0	0	0

		LEAGUE			CUP		
		<u>WON</u>	LOST	<u>DRAWN</u>	WON	LOST	
BATTING 1st	HOME	1	5	0	0	0	
	AWAY	1	4	1	0	0	
BATTING 2nd	HOME	1	2	1	0	3	
	AWAY	2	1	3	1	1	

A poor season, finishing twelfth was our worst performance since 1946 when we last finished 3rd bottom of the league. After winning only five matches and loosing twelve, we only managed to score 226 points whilst conceding 332 points.

Seven players made their 1st team league debut's this season, T.J. Chapman, J.T. Dobson, D.J. Eckels, S. Lister, M.A. Mashimbyi, M.A. Qureshi and J.R. Sutton.

In the league programme there were five century partnerships: 2 each for the 1^{st} and 3^{rd} wicket and 1 for the 4^{th} wicket. There were 12 other partnerships over 50: 5 for the 1^{st} wicket, 3 for the 3^{rd} wicket and 2 each for the 4^{th} and 6^{th} wickets.

As a team we scored our runs at an average of 1.739 balls per run.

There were some notable batting performances this year, it's was a shame we left it until the end of the season to set the best opening partnership since 1987, Neil Pratt (115*) and Daniel Hodgson (63) scoring his maiden half century set 191 for the 1st wicket.

Considering Neil missed 6 matches through injury he still managed to score more runs than last year which included three centuries and four half centuries.

Paul Raine also managed to set a new personal best hitting Great Ayton's professional to all corners of the ground to score 20 (5 x 4's) runs off only 12 deliveries.

Replacement professional Mohammad Qureshi showed all the bowlers what to do taking 13 wickets for only 112 runs in his three matches and David Eckels finished the season well taking 11 wickets in his last two matches. Overall we lacked a bowler capable of taking three or four wickets consistently each week which along with our overseas professional being injured mid way through the season resulted in us finishing where we did in the league.

We bowled a total of 109 extra deliveries due to no balls and wides, which was a 60% increase on last year. These deliveries cost a total of 99 extra runs but we did gain 4 wickets.

As a team we had a strike rate of 41.78.

We bowled four sides out this year, winning all four of the matches.

We did not manage to do the double over anyone this season while surprisingly only Bishop Auckland and Hartlepool managed to do it over us.

In the cup matches this season we started off with the Saunders at home to Hartlepool, apart from the final over which went for 18 runs we did well restricting them to 136 run, we were ahead of their run rate throughout the innings however, we only managed to score six of the required 11 runs in the final over and lost the match. We then went on to play Saltburn in the Kerridge and on a misty evening despite the umpires offering the light after the first over we had the home side reduced to 96-9 and we reached the target with 4 over's to spare, however, in the second round things were totally different with Middlesbrough setting a target of 194 when the rain came. To avoid having to go back to complete a match we had no chance of winning some of our players helped dry up the ground and we went out to play in unfit conditions and reached 106-5 at the end of the match.

In the Premier 15's competition two of the matches were lost because of the bad weather. We lost our first match at home to Northallerton by only 10 runs with John Barnes (56) scoring most of their runs, Colin Biglin (31) and Neil Pratt (21) put on a 3rd wicket partnership of 56 which unfortunately was not enough. Then in out final match at home to Bishop Auckland we fell 18 runs short of the target with extras totalling 26 no one else really getting any runs.

Next season needs to see a significant improvement if we would like to continue playing at the highest level.